LIGO

CALIFORNIA INSTITUTE OF TECHNOLOGY
MASSACHUSETTS INSTITUTE OF TECHNOLOGY

BILL OF MATERIALS

DRWG NO. REV GID

E1000751-v1

SHEET 10F1

ASSEMBLY NO:

D1003238-V1

ITM ELLIPTICAL BAFFLE FINAL ASSEMBLY

APPROVALS: DATE: REV__ |DCN NO. BY CHECK DCC DATE
DRAWN / AUTHOR:
CIT, CC 24-Nov-10 | vi |E1000736 MRUIZ
(REFERENCE CONTENTS)

CHECKED:

APPROVED:

DCC RELEASE

ITEMNO | REQ. |SPARE] TOT. |PART NUMBER |REVISION DESCRIPTION MATERIAL

1 1 1 | D1002751 V1 ITM ELLIPTICAL BAFFLE ASSY
2 1 1 | D1000930 Vil SLC MAGNET HOLDER STEEL PLATE ‘Egggf
3 4 4 N35P|1_|0T0°500 MAGNET, 1.0 DIA X 1/2 LG. NEO 35
4 2 3 | 922104537 FSHCS, 1/4-20 X 1/2" LG 18-8 SSTL
5 1 1 | D1002564 V1 SLC EDDY CURRENT DAMPING 8" DIA TUBE ASSY 6061-T6
6 1 1 | D1002753 V1 ITM ELLIPTICAL BLADE '\gg_'?fg'z'\ég
7 1 2 | NAS620-C10 WASHER, FLAT, #10 300 SSTL
8 1 2 NUT, HEX, #10-24 300 SSTL
9 4 5 HEX, NUT, 3/8-16 300 SSTL
10 1 1 | D1002609 V1 SLC BLADE MOUNTING BRACKET 6061-T6
11 1 | o | 1 | 95412n651 THREADED STUD, 3/8-16 X 9'LG 18-8 SSTL
12 | 4 5 | 98370A019 WASHER, FLAT, 3/8" 18-8 SSTL
13 | 9 10 | 90945A760 WASHER, FLAT 1/4' 300 SSTL
14 | 5 6 SHCS, 1/4-20 X 1.25 LG. AG 300 SSTL
15 1 2 SHCS, 1/4-20 X 1.0" LG AG 300 SSTL
6 | 2 3 | 922004544 SHCS, 1/4-20 X 1-1/4" 300 SSTL
17 1 | o| 1| D1oo27s6 V1 ITM ELLIPTICAL INTERFACE MOUNTING PLATE 304 SSTL
SHEET 1 OF 1 12/10/2010 1:42 PM




